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QUESTION 1

Given the exhibit, which two statements are correct regarding the graceful-restart state for the BGP groups? (Choose
two.) 
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A. The graceful-restart capability will be enabled for group IBGP. 

B. The graceful-restart capability will be disabled for group IBGP. 

C. The graceful-restart capability will be disabled for group EBGP. 

D. The graceful-restart capability will be enabled for group EBGP. 

Correct Answer: AC 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. The device is the root bridge? 

B. The spanning tree session has timed out. 

C. The local bridge priority is set to 8k. 

D. The bridge priority on the root device is set to 8k. 

Correct Answer: D 
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QUESTION 3

Which statement describes GRES? 

A. GRES requires NSR to function properly. 

B. GRES provides routing loop protection. 

C. GRES provides hardware-level high availability. 

D. GRES rapidly detects link failures. 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 
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You are attempting to set up IS-IS on a device that has two interfaces (ge-0/0/1.0 and ge- 0/0/2.0) in Level 1 and one
interface (ge-0/0/0.0) in Level 2; however, it does not participate in either level. 

Referring to the exhibit, what is the problem? 

A. The ge-0/0/0.0 interface must have the Level 1 disable statement removed. 

B. The lo0 interface must participate in both levels. . One of the interfaces requires a network entity title on it. 

C. All of the interfaces must have the level disable statement removed. 

Correct Answer: C 

 

QUESTION 5

Which two types of tunnels are able to be created on all Junos devices? (Choose two.) 

A. STP 

B. GRE 

C. IP-IP 

D. IPsec 

Correct Answer: BD 

Explanation: Junos devices support various types of tunnels for different purposes12. Option B is correct. Generic
Routing Encapsulation (GRE) is a tunneling protocol that can encapsulate a wide variety of network layer protocols
inside 

virtual point- to-point links over an Internet Protocol network1. Junos devices support GRE tunnels1. 

Option D is correct. IPsec (Internet Protocol Security) is a protocol suite for securing Internet Protocol (IP)
communications by authenticating and encrypting each IP packet of a communication session1. Junos devices support
IPsec tunnels1. 

Option A is incorrect. Spanning Tree Protocol (STP) is not a type of tunnel. It\\'s a network protocol designed to prevent
loops in a bridged Ethernet local area network2. 

Option C is incorrect. While Junos devices do support IP-IP (also known as IP tunneling), it\\'s not supported on all
Junos devices1. 
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